Harjoitus 1, syksy 2010

1. Laske ja sievenna

a) V27
b) 273
c) 2773
Q) o iy
2. Laske ja sievenna
a) (x —3)2
b) (z —3)(z + 3)
) 1 N 2x
¢ r+2 z-1
1 2z
d :
) r+2 -1

3. Ratkaise yhtalot

a) 2 =7 d) 2? = -5
b) 23 =7 e) x3 = =5
c) 2t =7 f) 2t = -5

4. Sievenné lauseke (v/z + /y) (v + /y)(Vx — /y).

3
5. Laske 3> (2x; + 1) kun z; = 2i kaikilla s € N,.

=1
6. Osoita induktiolla, etta

a) 2+4+6+...+2n=n+n*> VneN,
b) 2+4+8+16+...+2"=2""1 -2 VneN,

a) 202 —4r+2=0 Vast: v =1
b) 22 —x—2=0 Vast: v =—1 V x =2

c) ?—r+2=0 Vast: ei ratk.



